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QUESTION 1

Which protocol uses a native IP stack for transmission?
A. FCIP

B. iIFCP

C.iscsl

D. SCsI

Correct Answer: C

QUESTION 2

Assuming that a computer is configured to use all name resolution mechanisms in a Windows domain environment,
what is the default order of NetBIOS name resolution?

1.

HOSTS

DNS

3.
LMHOSTS
4,

WINS server
A.2,3,4,1
B.2,4,3,1
C.3,1,2,4
D.4,2,31

Correct Answer: B

QUESTION 3
Which statement describes the public network connection of a Celerra with a single Control Station?

A. Comprised of a single physical Ethernet connection
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B. Is formed from dual redundant physical Ethernet connections
C. Comprised of a virtual Ethernet EtherChannel connection
D. Is formed from a virtual Ethernet LACP connection

Correct Answer: A

QUESTION 4

What is saved on the physical Data Mover but is NOT saved in a VDM?
A. Kerberos information

B. Local group database

C. Share database

D. Usermapper

Correct Answer: D

QUESTION 5

On a Celerra NS gateway, the system LUNs must be configured on a RAID. 5 group. Which parameters must be
supported?

A. Any 6+1 RAID. 5 group

B. Any RAID. 5 group

C. Dedicated 4+1 RAID. 5

D. Dedicated 8+1 RAID. 5 group

Correct Answer: C
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